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• ke=âheÙee peeBÛe keâj ueW efkeâ Fme ØeMve-he$e ceW cegefõle he=‰ 16 leLee ØeMve 32 nQ~
Please make sure that the printed pages in this

question paper are 16 in number and it contains

32 questions.

• ØeMve-he$e ceW oeefnves neLe keâer Deesj efoÙes ieÙes keâes[ vecyej leLee mesš keâes Úe$e
Gòej-hegefmlekeâe kesâ cegKÙe-he=‰ hej efueKeW~
The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.

• ke=âheÙee ØeMve keâe Gòej efueKevee Meg™ keâjves mes henues, ØeMve keâe ›eâceebkeâ DeJeMÙe
efueKeW~
Before beginning to answer a question, its Serial

Number must be written.
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• Gòej-hegefmlekeâe kesâ yeerÛe cesb Keeueer heVee/heVes ve ÚesÌ[W~ 
Don’t leave blank page / pages in your answer-book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 
DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW~ 
Except answer-book, no extra sheet will be given. 
Write to the point and do not strike the written 
answer. 

• hejer#eeLeea Dehevee jesue veb0 ØeMve-he$e hej DeJeMÙe efueKeW~ 
Candidates must write their Roll Number on the 
question paper. 

• ke=âheÙee ØeMveeW keâe Gòej osves mes hetJe& Ùen megefveefMÛele keâj ueW efkeâ ØeMve-he$e hetCe& 
Je mener nw, hejer#ee kesâ Ghejevle Fme mecyevOe ceW keâesF& Yeer oeJee mJeerkeâej 
veneR efkeâÙee peeÙesiee~ 

 Before answering the question, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination.  

meeceevÙe efveos&Me : 

General Inst ruction : 

 (i) meYeer ØeMve DeefveJeeÙe& nwb~ 

  All questions are compulsory. 

 (ii) Fme heÇMve-he$e ceW kegâue 32 heÇMve nQ pees efkeâ Ûeej KeC[eW De, ye, 
me Deewj o ceW yeeBšs ieÙes nQ : 

  This question paper consists of 32 questions 

in all which are divided into four Sections : 

A, B, C and D : 
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  KeC[ De : Fme KeC[ ceW 1 mes 16 lekeâ kegâue 16 heÇMve nQ, 
heÇlÙeskeâ heÇMve 1 Debkeâ keâe nw~ 

  Section A : There are 16 questions from 1 

to 16, each of 1 mark. 

  KeC[ ye : Fme KeC[ ceW 17 mes 21 lekeâ kegâue 5 heÇMve nQ, 
heÇlÙeskeâ heÇMve 2 Debkeâ keâe nw~ 

  Section B : There are 5 questions from 17 

to 21, each of 2 marks. 

  KeC[ me : Fme KeC[ ceW 22 mes 27 lekeâ kegâue 6 heÇMve nQ, 
heÇlÙeskeâ heÇMve 4 Debkeâ keâe nw~ 

  Section C : There are 6 questions from 22 

to 27, each of 4 marks. 

  KeC[ o : Fme KeC[ ceW 28 mes 32 lekeâ kegâue 5 heÇMve nwb, 
heÇlÙeskeâ heÇMve 6 Debkeâ keâe nw~ 

  Section D : There are 5 questions from 28 

to 32 each of 6 marks. 

 (iii) KeC[ o ceW kegâÚ heÇMveeW ceW Deevleefjkeâ efJekeâuhe efoÙes ieÙes nQ~ GmeceW 
mes Skeâ heÇMve keâes Ûegvevee nw~ 

  Section D contains some questions where 

internal choice have been provided. You 

have to choose one of them. 
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KeC[ – De 

SECTION – A 

  1. AA 22 tan3sec3 − k e âe  ce e ve nw : 1 

 (A) – 3  (B) 3 (C) 0 (D) 1 
 The value of AA 22 tan3sec3 −  is : 
 (A) – 3  (B) 3 (C) 0 (D) 1 

  2. Ùe e f o 
12

5
tan =θ  ne s, le e s sec θ ke â e ce e ve nw :    1 

 (A) 
13

12
  (B) 

13

5
 

 (C) 
12

13
  (D) F ve ce W me s ke âes F & ve ne R 

 If 
12

5
tan =θ , then the value of sec θ is : 

 (A) 
13

12
  (B) 

13

5
 

 (C) 
12

13
  (D) None of these 

  3. cosec 38° – sec 52° k e âe  cee ve nw :    1 

 (A) 0  (B) 1 (C) –1 (D) 2 

 cosec 38° – sec 52° is equal to : 

 (A) 0  (B) 1 (C) –1 (D) 2 

  4. °+° 23sin67sin 22  k e â e ce e ve nw :  1 

 (A) 2  (B) 1 (C) 0 (D) –1 
 °+° 23sin67sin 22  is equal to : 

 (A) 2  (B) 1 (C) 0 (D) –1 
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  5. Ùe e f o PQ l eL ee  PR, k e s âv õ O J e e ues J e = òe k e âe r oe s mh eMe & j s Kee S B F me he Ç ke âe j 
ne sb  e f ke â QOR| = 82° nw,  le e s RPQ| ke âe ce eve nw : 1 

 (A) 100°  (B) 68° (C) 90° (D) 98° 

 If PQ and PR are two tangents to a circle with 

centre O, so that QOR| = 82°, then RPQ|  is : 

 (A) 100°  (B) 68° (C) 90° (D) 98° 

  6. 3 me s c ee r e f $e pÙee  Je e ue s Je = òe ke s â k esâvõ me s 5 me s cee r ke â er ot j er he j S ke â ef ye vog mes 
mheMe &-j s Ke e  ke â er ue cye e F& nw : 1 

 (A) 34  me s cee r (B) 4 me s cee r 
 (C) 6 me s ce e r (D)  F ve ce W me s ke âes F & ve ne R 
 The length of the tangent from a point which is 

at a distance of 5 cm from the centre of the 
circle of radius 3 cm, is : 

 (A) 34  cm (B) 4 cm 
 (C) 6 cm (D) None of these 

  7. oe s Je= òee W ke âe r e f$e pÙe e S B ke Ç âceMe: 17 me s cee r le Lee 9 mes cee r nQ~ Gme  Je = òe k eâer 
e f $e pÙee,  e f pe me ke â er he e fj efOe F ve  oe s ve eW Je = òee W k e âe r hee f je fOe Ùe e W ke s â Ùe es ie k es â  ye jey ej 
nQ,  nw :   1 

 (A) 26 me s cee r (B) 24 me s cee r 

 (C) 28 me s cee r (D) 8 me s cee r 

 The radii of two circles are 17 cm and 9 cm 
respectively. The radius of the circle which has 
circumference equal to the sum of the 
circumferences of the two circle, is : 

 (A) 26 cm (B) 24 cm 
 (C) 28 cm (D) 8 cm 
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  8. 12 me s cee r e f $e p Ùee l eLe e  e f$e pÙe Ke C[ ke âe ke âe s Ce 70° J e eue s Je= òe ke sâ 
e f $e pÙe Ke C[ ke âe # e s $e he âue nw : 1 

 (A) 60 me s cee r2 (B) 45 me s cee r2 

 (C) 88 me s cee r2 (D) F ve ce W me s ke âes F & ve ne R 
 Area of the sector of a circle with radius 12 cm 

and angle of sector 70° is : 
 (A) 60 cm

2
 (B) 45 cm

2 
 (C) 88 cm

2
 (D) None of these 

  9. S k e â ye le & ve pee s e f ke â S k e â ue cye J e= òee r Ùe ye s ue ve  ke s â Dee k e âe j  ke âe  nw, ke âe 
De e Ùe le ve  384 π me s ce e r3 nw l eL ee  F me ke âe r TB Ûe e F& 6 me s ce e r nw, Fme ke sâ 
De eOee j  ke âer e f $e pÙe e nw : 1 

 (A) 7 me s ce e r (B) 9 me s cee r 
 (C) 10 me s cee r (D) 8 me s cee r 
 The volume of a vessel in the form of a right 

circular cylinder is 384 π cm3 
and its height is   

6 cm. The radius of its base is : 

 (A) 7 cm (B) 9 cm 
 (C) 10 cm (D) 8 cm 

10. Ùe e f o S ke â  iee s ue s ke âe he = …e r Ùe  #e s$e he âue  264 me s ce er2 ne s, le e s Fme ke âer e f$e pÙe e  
nw :  1 

 (A) 29  me s cee r (B) 13  me s c ee r 
 (C) 21  me s cee r (D) 19  me s c ee r 
 If the surface area of a sphere is 264 cm2, then 

its radius is : 

 (A) 29  cm (B) 13  cm 
 (C) 21  cm  (D) 19  cm 
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11. DeeBkeâÌ [eW 15, 7, 23, 49, 33, 62, 13, 82, 76 keâe ceeOÙekeâ nw : 1 

 (A) 49  (B) 23 (C) 62 (D) 33 

 The median of the data 15, 7, 23, 49, 33, 62, 13, 

82, 76 is : 

 (A) 49  (B) 23 (C) 62 (D) 33 

12. yee j cye e j lee me ej Cee r ke âe ye ng ue ke â Je ie& nw : 1 

10-20 20-30 30-40 40-50 50-60 60-70 70-80 

11 29 17 8 22 16 7 

 (A) 30-40 (B) 50-60 (C) 60-70 (D) 20-30 

 The mode class of the frequency table will be : 

10-20 20-30 30-40 40-50 50-60 60-70 70-80 

11 29 17 8 22 16 7 

 (A) 30-40 (B) 50-60 (C) 60-70 (D) 20-30 

13. me b KÙe e De eW 13, 35, 52, 61, 38 leL e e 29 ke âe ce eOÙe nw : 1 

 (A) 38  (B) 33 

 (C) 28  (D) F ve ce W me s ke âes F & ve ne R 

 The mean of the numbers 13, 35, 52, 61, 38, 

and 29 is : 

 (A) 38  (B) 33 

 (C) 28  (D) None of these 
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14. De ÛÚe r h eÇ ke âe j me s he W â šer ie F & leeMe ke s â 52 h e òe eW k e âe r ie ñe r me s S ke â  he òe e 
e f ve ke âe uee  pee l ee nw~ he òee F k eä ke sâ k e âe  ne s, he Çe hle  ne s ves k e âe r he Ç e e f Ùe k eâle e nw : 1 

 (A) 
52

1
  (B) 

15

1
 (C) 

26

1
  (D) 

13

1
 

 One card is drawn from a well-shuffled deck of 
52 cards. The probability of getting a card of an 
ace will be : 

 (A) 
52

1
  (B) 

15

1
 (C) 

26

1
  (D) 

13

1
 

15. e f ve cve ce W me s ke âe w ve-me e r e f ke âme e r Iešve e ke âe r he Çe ef Ùe ke âle e veneR  ne s me k e â le e r ? 1 

 (A) 32%  (B) – 2.7 (C) 
5

4
  (D) 0.7 

 Which of the following cannot be the probability 

of any event ? 

 (A) 32%  (B) – 2.7 (C) 
5

4
  (D) 0.7 

16. S k e â e f vee fMÛe le (e f veOe e &e f j le ) I e šve e  ke âer h eÇ ee f Ùe ke âle e ne s le er nw : 1 

 (A) –1  (B) 1 
 (C) 0  (D) F ve ce W me s ke âes F & ve ne R 
 The probability of a sure event is : 

 (A) –1  (B) 1 
 (C) 0  (D) None of these 

KeC[ – ye 
SECTION – B 

17. e f oKe e F S  e f ke â  sin 32° cos 58° + sin 58° cos 32° = 1 2 

 Show that sin 32° cos 58° + sin 58° cos 32° = 1. 
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18. Je = òe  ke sâ  ke s âvõ me s 25 me s ce e r ke âe r ot j e r h e j  ef mL e le e f ye vog P me s mh eMe &-j s Ke e k e âer 
ue cy ee F & 24 mes cee r nw~  Je = òe  keâ e r e f $e pÙee  %ee l e ke âe r ef peS ~ 2 

 The length of the tangent from a point P at 
distance 25 cm from the centre of a circle is  
24 cm. Find the radius of the circle. 

19. ce e @ [ue  ye vee ves Je e uee r e f ce óe r me s 24 me s cee r TB Ûe e F& De e wj  6 me s c ee r DeeOe e j 
e f $e pÙee Je e uee  S ke â  Me b ke g â  ye ve e Ùe e ie Ù ee nw~ S k e â ye ÛÛes v e s Fme s iee s ue s keâs 
De e k e âe j  ce W ye oue  e f oÙe e~ F me iee s ue s ke âe r e f $e pÙe e %ee le ke âe r ef peS ~ 2 

 A cone of height of 24 cm and radius of base      
6 cm is made up of modelling clay. A child 
reshapes it in the form of a sphere. Find the 
radius of the sphere. 

20. e f ve cve me e j Cee r ke âe ce eOÙe %e e le  ke â er ef pe S  : 2 

Je ie&-De vle j e ue 15-25 25-35 35-45 45-55 55-65 

yee j cye e j lee 6 11 7 4 2 

 Find the mean of the following data : 

Class-Interval 15-25 25-35 35-45 45-55 55-65 

Frequency 6 11 7 4 2 

21. S k e â ye e @ ke ä me ce W 4 ue e ue, 3 ve er ue s Dee w j  2 me he sâ o he l L e j  nwb~ Ùe e f o S ke â 
he l L ej  me vot k e â  me s Ùe e ÂÛÚÙ ee e f ve k eâe uee pe e le e nw, lee s he Çe efÙe k e â lee %e e l e 
ke âer e f peS  e f ke â  Ùe n (i) me h e s âo (ii) ue e ue  ve ne R ne s ie e~ 2 

 A box contains 4 red, 3 blue and 2 white 
marbles. If a marble is drawn at random from 
the box, what is the probability that it will be  
(i) white (ii) not red. 
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KeC[ – me 

SECTION – C 

22. me Je & mee f ce ke âe e f meæ k e âe re f pe S  : 4 

 1)cot(tan)cos(sec)sinec(cos =+−− AAAAAA  

 Prove the identity : 

 1)cot(tan)cos(sec)sinec(cos =+−− AAAAAA  

23. oe s me ke sâvõe r Ùe Je= òe e W ke âe r e f$e pÙe eS B 13 me s ce e r leL ee 5 mes cee r nQ~ yeÌ [s J e= òe k eâer 
Gme  pee r Je e ke âe r ue cy ee F & %ee le ke âe re f pe S  pe es Ú es šs Je = òe  ke âes mh eMe & ke âj le er ne s~ 4 

 Two concentric circles are of radii 13 cm and  

5 cm. Find the length of the chord of the larger 

circle which touches the smaller circle. 

24. S k e â Ie Ì [e r k eâe r e f ce ve š ke âe r me g F& e f pe me ke â er ue cy ee F & 14 mes ce e r nw, F me meg F& 
Ée j e 15 e f ce ve š ce W y e vee Ùe s ie Ùe s Ye e ie k e âe  #e s $e he â ue %ee le ke âe r ef peS ~ 4 

 The length of the minute hand of a clock is         

14 cm. Find the area swept by the minute hand 

in 15 minutes.  

25. S k e â e f $e Yeg pe ABC ke âe r j Ûe ve e  k eâ e re f peS , ef pe me ke âe r ef Je ce eS B 7.5 me s ce e r,    
7 me s c ee r leLe e 6.5 me s ce e r nQ~  e fhe â j  S k eâ De vÙ e e f$eYe g pe ke âe r j Ûe ve e ke âe re f peS  

e f pe me ke âe r Ye gpe eS B, ef $e Ye g pe ABC ke â er me b ie le Ye g peeDee W keâ e 
3

2 J e eB ne W~ 4 
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 Construct a triangle ABC whose sides are  

7.5 cm, 7 cm and 6.5 cm. Construct another 

triangle similar to ∆ ABC and with sides 
3

2
rd of 

the corresponding sides of triangle ABC. 

26. S k e â Kee sKe ue s DeOe & ie es ue s ye l e& ve ke s â De e vle e fj ke â  leLee  ye e ¢e JÙe e me ke Ç â ceMe:  
42 me s ce e r l eL ee  45.5 me s ce e r nwb ~ F me k e â e r Oee ef j lee  leLe e F me ke âe y ee nj e r Je keÇ â 
he = … e r Ùe #e s$e he âue  %ee le  ke âer e f peS ~ 4 

 The internal and external diameters of a hollow 

hemispherical vessel are 42 cm and 45.5 cm 
respectively. Find its capacity and also its outer 

curved surface area. 

27. 62 y e uyee W ke sâ  me ce t n ce W 8 ye uye Ke j eye nQ~ F me me ce t n ceW me s S ke â  ye uye 
Ùe e ÂÛÚ Ùee e fv e ke âe ue e pee le e nw~ F me ke âe r k eä Ùee  h eÇ ee f Ùe ke âle e nw ef ke â Ùe n ye uy e 
Ke j e ye  ne s ie e ? 4 

 A lot of 62 bulbs contain 8 defective ones. One 

bulb is drawn at random from the lot. What is 

the probability that this bulb is defective ? 

KeC[ – o 

SECTION – D 

28. ce e r vee j  k e sâ  De eOee j  me s De ew j  S ke â me j ue j s Ke e c e W 4 c ee r De e wj  9 ce e r k eâ er ot j er 
he j  e f mLe le oe s e f ye vogDe e W me s cee r ve ej  ke s â e fMe Kej  ke âe Gv ve Ùe ve ke âe s Ce he tj ke â 
ke âes Ce  nw~ oMe e & FS  e f ke â ce e r ve ej  ke âe r TB Ûe e F & 6 ce e r nw~ 6 
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 The angles of elevation of the top of a tower from 

two points at a distance of 4 m and 9 m from the 

base of the tower and in the same straight line 

with it are complementary. Prove that the height 

of the tower is 6 m. 

DeLeJee 

OR 

 Ye t ef ce  ke s â S ke â  e fye vog P me s S ke â  10 ce e r TB Ûe s Ye Je ve ke s â e fMe Ke j  k e âe  Gvv e Ùe ve 
ke âes Ce  30° nw~ Ye Je ve ke s â e fMe Kej  he j  S ke â OJe pe ke âe s ue nj e Ùee  ie Ùe e nw De e w j 
P me s OJ e pe k es â  e fMe Ke j  ke âe G vve Ù e ve k e âe s Ce 45° nw~ OJ e pe oC [ k e â er ue cye eF& 
De e w j  e fy e vog P me s Ye Je ve ke âe r ot j e r %e e le  ke â er ef pe S ~ 

 732.13( =  ue e re f pe S ~ 

 From a point P on the ground, the angle of 

elevation of the top of a 10 m tall building is 30°. 
A flag is hoisted at the top of the building and 
the angle of elevation of the top of the flagstaff 

from P is 45°. Find the length of the flagstaff and 
the distance of the building from the point P. 

 (Take 732.13 = ) 

29. 6 me s c ee r e f $e pÙee  Je e ue e S ke â  Je = òe Ke e Re f ÛeS ~ ef he â j F me ce W k e sâvõ me s 10 mes ce er 
ke âer ot j e r he j  S k eâ  e fye v og me s Je= òe  he j  mh eMe & j s Ke eDee W ke âe Ù e g ice Ke eRe f Ûe S ~ 6 

 Draw a circle of radius 6 cm. From a point        

10 cm away from its centre, construct the pair of 

tangents to the circle. 
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30. De e k e =âe f le ce W ABCD Ye g pe e 14 me s ce e r Je e ue e S k e â  Je ie & nw~ A,B,C De e w j 
D ke âe s ke s âvõ ce e ve k eâj  Ûe e j  Je = òe Fme  h eÇ ke âe j Ke e R Ûes ie Ù e s nQ ef k e â he Ç lÙ e s ke â Je = òe 
le e r ve Me s <e Je = òee W ce W me s oe s Je = òe e W ke âe s ye e ¢e ™he  me s mheMe & ke âj lee  nw~ 
Úe Ùe eb e f ke â le Ye e ie ke âe # es $e he â ue %e e le k eâ e re f pe S ~ 6 

 
 
 

 
 

 
 

 In figure ABCD is a square of side 14 cm. With 

centres A, B, C and D four circles are drawn 
such that each circle touch externally two of the 

remaining three circles. Find the area of the 

shaded region. 

 

 

 

 

 

 

 

A B 

C D 

A B 

C D 
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DeLeJee 

OR 

 De e k e =âe f le ce W oMe e &S  ie Ùe s Je = òe Ke C[ AYB ke â e # e s $e he â ue %e e le k e âe r ef peS  Ù ee f o 
Je = òe  ke âe r e f$e pÙe e 21 mes ce e r ne s De ew j  BOA| = 120°  nw~  

(π
7

22
= ue e re f peS) 

 

 

 

 
 

 

 Find the area of the segment AYB as shown in 
figure, if radius of the circle is 21 cm and 

BOA| = 120°.  (Use π
7

22
= ) 

 

 

 

 
 

31. S k e â Me bke g â ke sâ  ef Úvv e ke â ke âe r e fl e Ùe &k e â  TB Ûe e F & 4 mes ce e r nw leL ee Fme k e s â Je = òee r Ùe 
e f me je W ke s â  he ef j ce e he  ( he ef je fOe Ùe eB ) 18 me s c ee r leL ee 6 me s ce er nQ~ F me e f Úvve keâ 
ke âe Je ke Ç â h e= …e r Ùe #e s$e he â ue %ee le ke â er ef peS ~ 6 

O 

B A 

Y 

120° 

O 

B A 

Y 

120° 
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 The slant height of a frustum of a cone is 4 cm 

and the perimeters of its circular ends are 18 cm 

and 6 cm. Find the curved surface area of the 

frustum. 

DeLeJee 

OR 

 S k e â DeO e & iee s uee k e âe j ye le & ve e f pe meke âe r Ye e r le j er ef $e pÙee 9 me s ce e r nw, S ke â õJe  mes 
Ye j e nw~ õJe k e âe s heÇ l Ùe s ke â 3 me s ce e r JÙe e me Je e uee r De ew j  4 me s ce er TB Ûe e F& J ee ue er 
y e s ue vee k eâ ej  y ee s l e ue ce W Ye je pee l e e nw~  ye le& ve  k e âe s Ke e ue e r ke âjve s ke sâ e f ueS  
e f k eâl e ve e r ye e s le uee W keâ er De e JeMÙe keâ le e  ne s iee r ? 

 A hemispherical bowl of internal radius 9 cm is 

full of liquid. This liquid is to be filled into 

cylinderical shaped small bottles each of 

diameter 3 cm and height 4 cm. How many 

bottles are necessary to empty the bowl ? 

32. e f ve cve mee j Cee r ke âe ce eOÙe ke â  137 nw~ x leL e e y ke s â ce e ve %e e le ke âe re f pe S , 
Ùe e f o k e gâue  ye e j cye e j le e 68 nes~ 6 

Jeie&-Devlejeue yeejcyeejlee 

65-85 4 

85-105 5 

105-125 x 

125-145 20 

145-165 14 

165-185 8 

185-205 y 
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 ( 16 ) 2803/(Set : B) 

2803/(Set : B) 

 The median of the following data is 137. Find the 

values of x and y, if the total frequency is 68. 

Class-Interval Frequency 

65-85 4 

85-105 5 

105-125 x 

125-145 20 

145-165 14 

165-185 8 

185-205 y 
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